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True / False Questions
 

1. Adjusting entries are needed whenever transactions affect the revenue or expenses of more than one accounting period. 
True    False

 

2. The book value of a depreciable asset can be determined by its market value at a particular time. 
True    False

 

3. The adjusting entry to record estimated income taxes in a profitable period consists of a credit to Income Tax Expense and a debit to Income Tax Payable. 
True    False

 

4. The failure to record an adjusting entry for depreciation would cause assets to be overstated and net income to be understated. 
True    False

 

5. The need for adjusting entries results from timing differences between the receipt or disbursement of cash and the dates on the financial statements. 
True    False

 

6. The adjusted trial balance may be used in place of the income statement. 
True    False

 

7. The book value of an asset may also be called the market value of the asset. 
True    False

 

8. The period of time over which the cost of an asset is allocated to depreciation expense is called its useful life. 
True    False

 

9. The adjusted trial balance combines the trial balance items with the adjusting entries to determine the adjusted balances. 
True    False

 

10. When a company receives cash in advance and it is obligated to provide a service or a product in the future, the entry would be a credit to a liability account and a debit to revenue. 
True    False

 

11. Adjusting entries are only required when errors are made. 
True    False

 

12. The Cash account is usually affected by adjusting entries. 
True    False

 

13. Avalon Company paid $4,400 cash for an insurance policy providing three years protection against fire loss. This transaction could properly be recorded by a $4,400 debit to Unexpired Insurance and a $4,400 credit to Cash. 
True    False

 

14. Unearned revenue is a liability and should be reported on the income statement. 
True    False

 

15. Unpaid expenses may be included as an expense on the income statement. 
True    False

 

16. Prepaid expenses are assets that should appear on the balance sheet. 
True    False

 

17. One of the purposes of adjusting entries is to convert assets to expenses. 
True    False

 

18. Every adjusting entry involves the recognition of either revenue or owner's equity. 
True    False

 

19. An adjusting entry to recognize that a fee received in advance has now been earned will cause an increase in total liabilities. 
True    False

 

20. Omission of the adjusting entry needed to accrue an expense at the end of the period would cause liabilities to be understated. 
True    False

 

21. Wages are an expense to the employer when earned, rather than when paid. 
True    False

 

22. Immaterial items may be accounted for in the most convenient manner, without regard to other theoretical concepts. 
True    False

 

23. All assets should be depreciated. 
True    False

 

24. Materiality is a matter of professional judgment. 
True    False

 

25. An expenditure that benefits the year in which it is made should be deducted from revenue in the same year. 
True    False

 

26. An expenditure that benefits year one but is paid for in year two should not be capitalized until year two. 
True    False

 

27. Companies that engage in fraud will often capitalize an asset rather than an expense account. 
True    False

 

 


Multiple Choice Questions
 

28. If Hot Bagel Co. estimates depreciation on an automobile to be $578 for the year, the company should make the following adjusting entry: 
A. Debit Accumulated Depreciation $578 and credit Depreciation Expense $578.
B. Debit Depreciation Expense $578 and credit Automobile $578.
C. Debit Depreciation Expense $578 and credit Accumulated Depreciation $578.
D. Debit Automobile $578 and credit Depreciation Expense $578.

 

29. Accumulated Depreciation is: 
A. An asset account.
B. A revenue account.
C. A contra-asset account.
D. An expense account.

 

30. Adjusting entries are prepared: 
A. Before financial statements and after a trial balance has been prepared.
B. After a trial balance has been prepared and after financial statements are prepared.
C. After posting but before a trial balance is prepared.
D. Anytime an accountant sees fit to prepare the entries.

 

31. The normal balance of the Accumulated Depreciation account is: 
A. A debit balance.
B. A credit balance.
C. Either a debit balance or a credit balance.
D. There is no normal balance for this account.

 

32. Unearned revenue may also be called: 
A. Net income.
B. Deferred revenue.
C. Unexpired revenue.
D. Services rendered.

 

33. The adjusting entry to record income taxes at the end of an unprofitable accounting period consists of a: 
A. Debit to Income Tax Expense and a credit to Income Tax Payable.
B. Credit to Income Tax Expense and a debit to Income Tax Payable.
C. Credit to Income Tax Receivable and a debit to Income Tax Expense.
D. No adjusting entry is required for income taxes if there are no profits.

 

34. Which of the following is not considered a basic type of adjusting entry? 
A. An entry to convert a liability to a revenue.
B. An entry to accrue unpaid expenses.
C. An entry to convert an asset to an expense.
D. An entry to convert an asset to a liability.

 

35. The United Shipping Co. made an adjusting entry accruing interest for $800 on a note payable for the month of January. The note required 12% per annum on the principal. The principal amount of the note payable must have been: 
A. $7,000.
B. $9,600.
C. $80,000.
D. $10,800.

 

36. Rose Corp. has a note receivable from Jewel Co for $80,000. The note matures in 5 years and bears interest of 6%. Rose is preparing financial statements for the month of June. Rose should make an adjusting entry: 
A. Debiting Interest Revenue for $400 and crediting Interest Receivable for $400.
B. Debiting Interest Receivable for $400 and crediting Interest Revenue for $400.
C. Debiting Interest Revenue for $4,800 and crediting Interest Receivable for $4,800.
D. Crediting Interest Payable for $400 and debiting Interest Expense for $400.

 

37. Hahn Corp. has three employees. Each earns $600 per week for a five day work week ending on Friday. This month the last day of the month falls on a Wednesday. The company should make an adjusting entry: 
A. Debiting Wage Expense for $1,080 and crediting Wages Payable for $1,080.
B. Debiting Wage Expense for $360 and crediting Wages Payable for $360.
C. Crediting Wage Expense for $1,080 and debiting Wages Payable for $1,080.
D. Crediting Wage Expense for $360 and debiting Wages Payable for $360.

 

38. Which of the following activities is least likely to be limited to "year-end"? 
A. Closing the accounts.
B. Drafting notes to accompany statements.
C. Recording routine transactions.
D. Undergoing an audit.

 

39. Depreciation is: 
A. An exact calculation of the decline in value of an asset.
B. Only an estimate of the decline in value of an asset.
C. Only recorded at the end of a year and never over a shorter time period.
D. Management must know the exact life of an asset in order to calculate an acceptable depreciation expense.

 

40. We can compare income of the current period with income of a previous period to determine whether the operating results are improving or declining: 
A. Only if each accounting period covered is a full year.
B. Only if the same accountant prepares the income statement each period.
C. Only if the accounting periods are equal in length.
D. Only if a manual accounting system is used in both periods.

 

41. The purpose of adjusting entries is to: 
A. Prepare the revenue and expense accounts for recording the revenue and expenses of the next accounting period.
B. Record certain revenue and expenses that are not properly measured in the course of recording daily routine transactions.
C. Correct errors made during the accounting period.
D. Update the owners' equity account for the changes in owners' equity that had been recorded in revenue and expense accounts throughout the period.

 

42. Unearned revenue is: 
A. An asset.
B. Income.
C. A liability.
D. An expense.

 

43. Which of the following is not a purpose of adjusting entries? 
A. To prepare the revenue and expense accounts for recording transactions of the following period.
B. To apportion the proper amounts of revenue and expense to the current accounting period.
C. To establish the proper amounts of assets and liabilities in the balance sheet.
D. To accomplish the objective of offsetting the revenue of the period with all the expenses incurred in generating that revenue.

 

44. Which of the following situations does not require Empire Company to record an adjusting entry at the end of January? 
A. On January 1, Empire Company purchased delivery equipment with an estimated useful life of five years.
B. On January 1, Empire Company began delivery service for a large client who will pay at the end of a three-month period.
C. At the end of January, Empire Company pays the custodian for January office cleaning services.
D. On January 1, Empire Company paid rent for six months on its office building.

 

45. Adjusting entries are needed: 
A. Whenever revenue is not received in cash.
B. Whenever expenses are not paid in cash.
C. Only to correct errors in the initial recording of business transactions.
D. Whenever transactions affect the revenue or expenses of more than one accounting period.

 

46. Adjusting entries help achieve the goals of accrual accounting by applying the following two accounting principles: 
A. Business entity concept and realization principle.
B. Cost principle and the accounting equation.
C. Realization principle and matching principle.
D. Matching principle and safety principle.

 

47. No adjusting entry should consist of: 
A. A debit to an expense and a credit to an asset.
B. A debit to an expense and a credit to revenue.
C. A debit to an expense and a credit to a liability.
D. A debit to a liability and a credit to revenue.

 

48. The entry to record depreciation is an example of an adjusting entry: 
A. To apportion a recorded cost.
B. To apportion unearned revenue.
C. To convert a liability to revenue.
D. To record unrecorded revenue.

 

49. During the last month of its fiscal year, Echo Lake Resort accepted numerous deposits from customers. By the end of the month many, but not all, of these guests had completed their stays. The entry to record this event is an example of an adjusting entry: 
A. To apportion a recorded cost.
B. To apportion unearned revenue.
C. To record unrecorded expenses.
D. To record unearned revenue.

 

50. Prepaid expenses are: 
A. Assets.
B. Income.
C. Liabilities.
D. Expenses.

 

51. Colonial Systems prepares monthly financial statements. Colonial would record a prepaid expense in each of the following situations except: 
A. Colonial Systems purchased a two-year fire insurance policy.
B. Colonial Systems paid for six months' gardening services in advance.
C. A tenant paid Colonial Systems three months' rent in advance.
D. Colonial Systems purchased enough office supplies to last several months.

 

52. Which of the following statements is not true regarding prepaid expenses? 
A. Prepaid expenses represent assets.
B. Prepaid expenses are shown in a special section of the income statement.
C. Prepaid expenses become expenses only as goods or services are used up.
D. Prepaid expenses appear in the balance sheet.

 

53. The concept of materiality: 
A. Involves only tangible assets and not intangible assets.
B. Relates only to the income statement and not the balance sheet.
C. Is always an exact percentage of a financial account balance.
D. Is measured as an item significant enough to influence the decisions of users of financial statements.

 

54. The balance of an unearned revenue account: 
A. Appears in the balance sheet as a component of owners' equity.
B. Appears in the income statement along with other revenue accounts.
C. Appears in a separate section of the income statement for revenue not yet earned.
D. Appears in the liability section of the balance sheet.

 

55. In which of the following situations would Daystar Company record unearned revenue in May? 
A. In April, Daystar Company received payment from a customer for services that are performed in May.
B. Daystar Company completes a job for a customer in May; payment will be received in June.
C. Daystar Company is paid on May 25 for work done in the first two weeks of May.
D. Daystar Company receives payment in May for work to be performed in June and July.

 

56. Interest that has accrued during the accounting period on a note payable requires an adjusting entry consisting of: 
A. A debit to Interest Expense and a credit to Cash.
B. A debit to Notes Payable and a credit to Interest Payable.
C. A debit to an asset and a credit to a liability.
D. A debit to Interest Expense and a credit to Interest Payable.

 

57. The adjusting entry to record interest that has accrued on a note payable to the bank will cause an immediate: 
A. Increase in liabilities and reduction in net income.
B. Decrease in liabilities and reduction in net income.
C. Decrease in assets and reduction in net income.
D. Increase in assets and increase in net income.

 

58. Which of the following would not be considered an adjusting entry?
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A. A Above.
B. B Above.
C. C Above.
D. D Above.

 

59. In which of the following situations would an adjusting entry be made at the end of January to record an accrued expense? 
A. Ramona's Nursery purchased playground equipment on January 1 with an estimated useful life of six years.
B. On January 25, Ramona's Nursery hired a college student to drive the minibus; the new employee is to begin work in February.
C. January 31 falls on a Tuesday; salaries are paid on Friday of each week.
D. On January 31, Ramona's Nursery paid the interest owed on a note payable for January.

 

60. As of January 31, Princess Company owes $500 to Butler Co. for equipment rented during January. If no adjustment is made for this item at January 31, how will Princess's financial statements be affected? 
A. Cash will be overstated at January 31.
B. Net income for January will be overstated.
C. Owners' equity will be understated.
D. The financial statements will be accurate since the $500 does not have to be paid yet.

 

61. The accountant for the Grassroots Company failed to make an adjusting entry to record revenue earned but not yet billed to customers. The effect of this error is: 
A. An overstatement of assets and of net income offset by an understatement of owners' equity.
B. An overstatement of net income and an understatement of assets.
C. An understatement of assets, net income, and owners' equity.
D. An overstatement of liabilities offset by an understatement of owners' equity.

 

62. Recently, Bon Appetite Café contracted and paid for a relatively expensive advertisement in Haute Cuisine magazine. Despite the fact that the ad will appear in Haute Cuisine three months after the end of Bon Appetite Café's current fiscal year, the Cafe's accountant recorded the disbursement to advertising expense. If no adjusting entry is made, how will this year's financial statements of Bon Appetite Café be affected? 
A. Net income will be overstated and total assets will be understated.
B. Net income will be overstated and total assets will be overstated.
C. Net income will be understated and total assets will be understated
D. Net income will be understated and total assets will be overstated.

 

63. An adjusting entry involving recognition of accrued revenue is necessary at the end of March in which of the following situations? 
A. Midwood Consultants received payment in February for consulting services rendered in March.
B. Midwood Consultants began working for a client on March 15; bills will be sent monthly beginning April 15.
C. Midwood Consultants made payment in January for office rent for the first three months of the year.
D. On March 31, a major customer paid his bill for a consulting job completed in February.

 

64. An example of a contra-asset account is: 
A. Depreciation Expense.
B. Accumulated Depreciation.
C. Prepaid expenses.
D. Unearned revenue.

 

65. Which of the following entries causes an immediate decrease in assets and in net income? 
A. The entry to record depreciation expense.
B. The entry to record revenue earned but not yet received.
C. The entry to record the earned portion of rent received in advance.
D. The entry to record accrued wages payable.

 

66. Which of the following is not considered an end-of-period adjusting entry? 
A. The entry to record the portion of unexpired insurance which has become expense during the period.
B. An entry to record revenue which has been earned but has not yet been billed to customers.
C. The entry to record depreciation expense.
D. An entry to record repayment of a bank loan and to recognize related interest expense.

 

67. Which of the following is the accounting principle that governs the timing of revenue recognition? 
A. Realization principle.
B. Materiality.
C. Matching.
D. Depreciation.

 

68. Which of the following statements concerning materiality is true? 
A. Generally accepted accounting principles are violated if estimates are used in end-of-period adjustments.
B. Each year the Financial Accounting Standards Board (FASB) publishes the dollar amount considered "material" for each industry.
C. Immaterial items should be handled in the most expedient manner, even if resulting financial statements are not completely precise.
D. Accountants should not waste time and money in recording transactions involving small dollar amounts.

 

69. The concept of materiality: 
A. Treats as material only those items that are greater than 2% or 3% of net income.
B. Justifies ignoring the matching principle or the realization principle in certain circumstances.
C. Affects only items reported in the income statement.
D. Results in financial statements that are less useful to decision makers because many details have been omitted.

 

70. Which of the following would not be a proper application of the concept of materiality by Millridge Corporation? 
A. Transactions involving small dollar amounts are not recorded in Millridge's accounting records.
B. Estimates of supplies on hand are used to determine the supplies expense for the period.
C. On a monthly basis, utility bills are expensed in the month paid, rather than in the month in which services are used.
D. Immaterial items are ignored in making end-of-period adjusting entries.

 

71. After preparing the financial statements for the current year, the accountant for Barbara's Jewel Co closed the dividends account at year-end by debiting Retained Earnings and crediting the dividends account. What is the effect of this entry on current-year net income and the balance in the owners' equity account(s) at year-end? 
A. Net income is overstated; balance in the retained earnings account is correct.
B. Net income is correct; balance in the capital stock account is correct.
C. Net income is understated; balance in the capital stock account is correct.
D. Net income is understated; balance in the retained earnings account is understated.

 

72. Which of the following accounting principles is concerned with offsetting revenue with the expenses incurred in producing that revenue? 
A. Realization principle.
B. Materiality.
C. Matching.
D. Depreciation.

 

73. Which of the following is not an example of an adjusting entry? 
A. The entry to record unpaid expenses.
B. The entry to record uncollected revenues.
C. The entry to convert liabilities to revenue.
D. The entry to pay outstanding bills.

 

74. Unearned revenue appears: 
A. As income on the income statement.
B. As an asset on the balance sheet.
C. As a liability on the balance sheet.
D. As a part of the retained earnings.

 

75. Prepaid expenses appear: 
A. As an expense on the income statement.
B. As an asset on the balance sheet.
C. As a liability on the balance sheet.
D. As a reduction to retained earnings.

 

76. Which of the following is considered an adjusting entry? 
A. The entry to record depreciation.
B. The entry to pay salaries.
C. The entry to pay outstanding bills.
D. The entry to declare a dividend distribution.

 

77. Which of the following is considered a contra-asset account? 
A. Prepaid expenses.
B. Unearned revenue.
C. Accumulated depreciation.
D. Accounts receivable.

 

78. Which statement is true about land? 
A. Land should be depreciated over the same period as the building located on it.
B. Land cannot be depreciated for greater than a 40-year period.
C. Land should not be depreciated.
D. The straight line method should be used to depreciate land.

 

79. Which statement is true about an adjusted trial balance? 
A. It is prepared before adjusting entries.
B. Revenue accounts and expense accounts should not appear on the adjusted trial balance.
C. Balance sheet items are presented before income statement items.
D. Accumulated depreciation should equal depreciation expense.

 

80. On the adjusted trial balance, retained earnings is: 
A. Stated at the period-end amount.
B. Stated at the period-beginning amount.
C. Adjusted for all revenues and expenses for the period.
D. Adjusted for the period's dividends.

 

81. Depreciation expense is: 
A. Only an estimate.
B. An exact calculation prepared by an appraiser.
C. Not to be calculated unless the exact life of an asset can be determined.
D. To be determined for all assets owned by a company.

 

82. The cost of insurance is considered an expense: 
A. Only when the entire policy period has passed.
B. Only when the policy is purchased.
C. Only when the premium is paid.
D. Evenly over the term of the policy.

 

83. Shop supplies are expensed when: 
A. Consumed.
B. Purchased.
C. Paid for.
D. Ordered.

 

84. Accumulated depreciation is: 
A. The depreciation expense recorded on an asset to date.
B. The remaining book value of an asset.
C. The depreciation expense taken on an asset during the current period.
D. An expense on the income statement.

 

85. The accrual of interest on a note payable will: 
A. Reduce total liabilities.
B. Increase total liabilities.
C. Have no effect upon total liabilities.
D. Will have no effect upon the income statement but will affect the balance sheet.

 

86. In which of the following situations would the largest amount be recorded as an expense of the current year? (Assume accrual basis accounting.) 
A. $4,000 is paid in January for equipment with a useful life of four years.
B. $1,800 is paid in January for a two-year fire insurance policy.
C. $10,000 cash is withdrawn by the owner for personal use.
D. $900 is paid to an attorney for legal services rendered during the current year.

 

87. Gourmet Shop purchased cash registers on April 1 for $12,000. If this asset has an estimated useful life of four years, what is the book value of the cash registers on May 31? 
A. $250.
B. $3,000.
C. $9,000.
D. $11,500.

 

88. Videobusters, Inc. offered books of video rental coupons to its patrons at $40 per book. Each book contained a certain number of coupons for video rentals. During the current period 500 books were sold for $20,000, and this amount was credited to Unearned Rental Revenue. At the end of the period, it was determined that $15,000 worth of book coupons had been used by customers to rent videos. The appropriate adjusting entry at the end of the period would be: 
A. Debit Rental Revenue $5,000 and credit Unearned Rental Revenue $5,000.
B. Debit Rental Revenue $15,000 and credit Unearned Rental Revenue $15,000.
C. Debit Unearned Rental Revenue $5,000 and credit Rental Revenue $5,000.
D. Debit Unearned Rental Revenue $15,000 and credit Rental Revenue $15,000.

 

89. Regal Real Estate which maintains its accounts on the basis of a fiscal year ending June 30, began the management of an office building on June 15 for an agreed annual fee of $4,800. The first payment is due on July 15. The adjusting entry required at June 30 is: 
A. A debit to Management Fees Receivable for $200 and a credit to a revenue account for $200.
B. A $200 debit to Unearned Management Fees and a $200 credit to Management Fees Earned.
C. A debit to Cash for $200 and a credit to Management Fees Earned.
D. A debit to Cash for $400 offset by a credit to a revenue account for $200 and a liability for $200.

 

90. Great Kids Co. began providing day care for the children of employees of a large corporation on January 15 for an agreed monthly fee of $9,000. The first payment is to be received on February 15. The adjusting entry required by Great Kids Co. on January 31 includes: 
A. A credit to Child Care Fees Earned of $4,500.
B. A debit to Child Care Fees Receivable of $9,000.
C. A debit to Unearned Child Care Revenue of $4,500.
D. A debit to Fees Receivable of $9,000.

 

91. Before any month-end adjustments are made, the net income of Bennett Company is $76,000. The following adjustments are necessary: office supplies used, $3,160; services performed for clients but not yet recorded or collected, $3,640; interest accrued on note payable to bank, $3,040. After adjusting entries are made for the items listed above, Bennett Company's net income will be: 
A. $66,160.
B. $78,560.
C. $73,440.
D. $76,000

 

92. The accountant for Perfect Painting forgot the following two adjustments at the end of 2010:
(a) The entry to record depreciation: $3,000.
(b) The entry to record the portion of fees received in advance which have now been earned: $3,000.
As a result of these two omissions: 
A. Net income for Perfect Painting for 2010 is overstated.
B. Net income for Perfect Painting for 2010 is understated.
C. Assets of Perfect Painting are overstated at December 31, 2010.
D. Liabilities of Perfect Painting are understated at December 31, 2010.

 

93. Before making month-end adjustments, net income of Cardinal Company was $116,000 for March. Adjusting entries are necessary for the following items:
-Depreciation for the month of March: $2,300.
-Interest income accrued to March 31, on deposits in banks: $800.
-Supplies used in March: $100.
-Fees earned in March that had been collected in advance: $2,600.
After recording these adjustments, net income for March is: 
A. $112,400.
B. $113,620.
C. $117,000.
D. $110,800.

 

 Omega Company adjusts its accounts at the end of each month. The following information has been assembled in order to prepare the required adjusting entries at December 31:
(1) A one-year bank loan of $720,000 at an annual interest rate of 12% had been obtained on December 1.
(2) The company pays all employees up-to-date each Friday. Since December 31 fell on Tuesday, there was a liability to employees at December 31 for two day's pay amounting to $6,800.
(3) On December 1, rent on the office building had been paid for four months. The monthly rent is $6,000.
(4) Depreciation of office equipment is based on an estimated useful life of six years. The balance in the Office Equipment account is $9,360; no change has occurred in the account during the year.
(5) Fees of $9,800 were earned during the month for clients who had paid in advance.

 

94. What amount of interest expense has accrued on the bank loan? 
A. $6,400.
B. $7,000.
C. $7,200.
D. $7,800.

 

95. The accrued interest should be: 
A. Debited to Notes Payable.
B. Credited to Interest Payable.
C. Credited to Cash.
D. Credited to Interest Expense.

 

96. By what amount will the book value of the office equipment decline after the appropriate December adjustment is recorded? 
A. $1,560.
B. $130.
C. $0.
D. $1,430.

 

97. After the appropriate adjusting entry is recorded, the balance in the liability account Unearned Fees will: 
A. Decrease by $9,800.
B. Increase by $9,800.
C. Equal $9,800.
D. Be unaffected.

 

98. The entry to record rent expense will include: 
A. A debit to Prepaid Rent for $6,000.
B. A credit to Prepaid Rent for $6,000.
C. A credit to Prepaid Rent for $18,000.
D. A debit to Prepaid Rent for $18,000.

 

99. Failure to make the appropriate adjustment to the Salary Expense account will: 
A. Understate net income for December by $6,800.
B. Understate net income for January by $6,800.
C. Overstate total liabilities at December 31.
D. Overstate the balance in Cash at December 31.

 

 Hoffman, Inc. adjusts its books each month but closes its books at the end of the year. The trial balance at March 31 before adjustments is as follows:
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100. According to service contracts, $4,810 of the Unearned Service Revenue has been earned in March. The amount of Service Revenue Earned to be reported in the March income statement is: 
A. $16,510.
B. $21,320.
C. $11,700.
D. $20,410.

 

101. On March 1, Hoffman paid in advance for four months' insurance. The necessary adjusting entry at March 31 includes which of the following? 
A. A credit to Prepaid Insurance for $2,340.
B. A credit to Prepaid Insurance for $780.
C. A debit to Prepaid Insurance for $2,340.
D. A debit to Prepaid Insurance for $780.

 

102. At March 31, the amount of supplies on hand is $520. What amount is reported in the January income statement for supplies expense? 
A. $1,300.
B. $0.
C. $520.
D. $780.

 

103. The equipment had an estimated useful life of five years. Compute the book value of the equipment at March 31, after the proper March adjustment is recorded. 
A. $10,833.
B. $15,167.
C. $25,567.
D. $10,400.

 

104. Employees are owed $750 for services since the last payday in March, to be paid the first week in April. The amount to be reported in the March income statement for salaries expense is: 
A. $7,800.
B. $750.
C. $7,050.
D. $8,550.

 

105. On December 31, Louis Jeweler's made an adjusting entry to record $4,200 accrued interest payable on its mortgage. On January 10, the mortgage payment was made. This payment included interest charges of $6,300, $2,100 of which were applicable to the period from January 1 through January 10. When recording this mortgage payment, the accountant should: 
A. Debit Interest Expense $2,100 and debit Accrued Interest Payable $4,200.
B. Debit Interest Expense $6,300.
C. Debit Accrued Interest Payable $6,300.
D. Debit Interest Expense $2,100 and credit Accrued Interest Payable $4,200.

 

106. An asset purchased on January 1, 2006 for $60,000 that has an estimated life of 10 years will have a book value on December 31, 2009 of: 
A. $60,000.
B. $24,000.
C. $36,000.
D. $42,000.

 

107. If an asset was purchased on January 1, 2006 for $140,000 with an estimated life of 5 years, what is the accumulated depreciation at December 31, 2009? 
A. $28,000.
B. $112,000.
C. $56,000.
D. $84,000.

 

108. Under accrual accounting, salaries earned by employees but not yet paid should be expensed: 
A. In the period in which they are earned.
B. In the period in which they are paid.
C. In the period with the higher earnings.
D. In the period with the lower earnings.

 

109. Under accrual accounting, fees received in advance from customers should be shown as being earned: 
A. When cash is collected.
B. When services are performed or goods delivered.
C. When tax rates are low.
D. When tax rates are high.

 

110. Dolphin Co. received $1,500 in fees during 2009, 1/3 of which was earned in 2010, the rest was earned when received. The company should report which of the following amounts as income in 2009? 
A. $1,500.
B. $500.
C. $1,000.
D. $0.

 

111. Swordfish Co. earned $75,000 in 2009 and expects to receive 2/3 of the amount in 2010 and the remainder in 2011. How much revenue should they report in 2009? 
A. $0.
B. $25,000.
C. $50,000.
D. $75,000.

 

112. Tuna Co. purchased a building in 2009 for $650,000 and debited an asset called "Buildings" for the entire amount. The company never depreciated the building although it had a useful life of 15 years. This action will cause: 
A. Net income to be understated.
B. Net income to be overstated.
C. Net income will not be affected.
D. Total assets will be understated.

 

113. Leland Corp. has a note receivable from Jewel Co for $50,000. The note matures in 2 years and bears interest of 3%. Leland is preparing financial statements for the quarter ending June 30. Leland should make an adjusting entry: 
A. Debiting Interest Revenue for $375 and crediting Interest Receivable for $375.
B. Debiting Interest Receivable for $375 and crediting Interest Revenue for $375.
C. Debiting Interest Revenue for $1,500 and crediting Interest Receivable for $1,500.
D. Crediting Interest Payable for $375 and debiting Interest Expense for $375.

 

114. Mounder Corp. charges interest on its past due accounts receivable. A late fee of 18% per annum is added to each past due account. Mounder is preparing financial statements for the month of July and has determined there are $18,000 in past due accounts. Mounder should make an adjusting entry as follows 
A. Debiting Late Fee Revenue for $270 and crediting Accounts Receivable for $270.
B. Debiting Accounts Receivable for $270 and crediting Late Fee Revenue for $270
C. Debiting Late Fee Revenue for $3,240 and crediting Late Fee Receivable for $3,240.
D. Crediting Late Fee Payable for $270 and debiting Late Fee Expense for $270.

 

115. Gordy's Corp. has seven employees. Each earns $800 per week for a five day work week ending on Friday. This month, the last day of the month falls on a Thursday. The company should make an adjusting entry: 
A. Debiting Wage Expense for $4,480 and crediting Wages Payable for $4,480.
B. Debiting Wage Expense for $640 and crediting Wages Payable for $640.
C. Crediting Wage Expense for $4,480 and debiting Wages Payable for $4,480.
D. Crediting Wage Expense for $640 and debiting Wages Payable for $640.

 

116. Before any month-end adjustments are made, the net income of Russell Company is $38,000. However, the following adjustments are necessary: office supplies used, $3,160; services performed for clients but not yet recorded or collected, $3,040; interest accrued on a note payable to bank, $3,640. After adjusting entries are made for the items listed above, Russell Company's net income would be: 
A. $38,000.
B. $34,240.
C. $41,160.
D. $44,200.

 

117. Before making month-end adjustments, net income of Bobwhite Company was $232,000 for March. Adjusting entries are necessary for the following items: 
-Depreciation for the month of March: $4,300.
-Interest income accrued to March 31, on deposits in banks: $900.
-Supplies used in March: $300.
-Fees earned in March that had been collected in advance: $3,600.
After recording these adjustments, net income for March is: 
A. $222,900.
B. $227,700.
C. $231,900.
D. $235,600.

 

 Gamma Company adjusts its accounts at the end of each month. The following information has been assembled in order to prepare the required adjusting entries at December 31:
(1) A one-year bank loan of $720,000 at an annual interest rate of 6% had been obtained on December 1.
(2) The company pays all employees up-to-date each Friday. Since December 31 fell on Tuesday, there was a liability to employees at December 31 for two day's pay. Employees earn a total of $12,800 per week.
(3) On December 1, rent on the office building had been paid for three months. The monthly rent is $7,000.
(4) Depreciation of office equipment is based on an estimated useful life of five years. The balance in the Office Equipment account is $12,360; no change has occurred in the account during the year.
(5) All fees totaling $19,800 were earned during the month for clients who had paid in advance.

 

118. What amount of interest expense has accrued on the bank loan? 
A. $3,200.
B. $3,500.
C. $3,600.
D. $3,900.

 

119. How much is owed the employees for their wages? 
A. $0.
B. $2,560.
C. $5,120.
D. $12,800.

 

120. What should be the balance of Prepaid Rent on December 31? 
A. $0.
B. $7,000.
C. $14,000.
D. $21,000.

 

121. How much depreciation expense should be recognized for December? 
A. $206.
B. $2,472.
C. $12,360.
D. $19,800.

 

122. What should be the December 31 balance for Unearned Revenue? 
A. $0.
B. $1,650.
C. $12,360.
D. $19,800.

 

 


Essay Questions
 

123. Accounting terminology
Listed below are nine technical accounting terms emphasized in this chapter:
 [image: image3.wmf] 
Each of the following statements may (or may not) describe one of these technical terms. In the space provided below each statement, indicate the accounting term described, or answer "None" if the statement does not correctly describe any of the terms.
____ (a.) An account with a credit balance that is an offset against an asset account.
____ (b.) A contra-account.
____ (c.) A liability to customers who have paid in advance.
____ (d.) The estimated current value of an asset.
____ (e.) Entries made to achieve the goals of accrual accounting when revenue or expense transactions span more than one accounting period.
____ (f.) An asset that will expire shortly.
____ (g.) Revenue that has been earned, but not yet received. 


 


 


 

 

124. Adjusting entries
Selected ledger accounts used by Cross Country Truck Rentals, Inc. are listed along with identifying numbers. Following this list of account numbers and titles is a series of transactions. For each transaction, you are to indicate the proper accounts to be debited and credited.
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125. Adjusting entries
Selected ledger accounts used by American Advertising, Inc., are listed along with identifying numbers. Following this list of account numbers and titles is a series of transactions. For each transaction, you are to indicate the proper accounts to be debited and credited.
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126. End-of-period adjustments-effect on net income
Before making any year-end adjusting entries, the revenues of Hot Jazz Studio exceeded expenses by $127,000. However, the following adjustments are necessary:
(A.) Prepaid rent consumed, $1,500.
(B.) Services rendered to clients but not yet billed, $20,000.
(C.) Interest accrued on notes payable, $1,100.
(D.) Depreciation, $4,800.
(E.) Accrued wages payable, $3,900.
(F.) Fees collected in advance which have now been earned, $7,100.
Complete the schedule to determine the net income of Hot Jazz Studio after these adjustments have been recorded. Show the effect of each adjustment in the space provided. Compute net income after adjustments and place answer in space provided.
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127. End-of-period adjustments-effect on net income
Ocean View, Inc. reported revenues of $645,000 and expenses of $360,000 for the month of May, before making any month-end adjusting entries. The following data are provided regarding adjusting entries:
(A.) Portion of insurance expiring in May, $2,520.
(B.) A customer has used the facilities for two weeks in May; the fee of $4,200 has not yet been billed.
(C.) Amount owed for salaries accrued in the last week of May, $1,650.
(D.) Depreciation on equipment for May $1,290.
(E.) Supplies used in May, $13,125.
(F.) Fees collected in advance which have been earned during May, $23,400.
Complete the schedule to determine the net income of Ocean View Inc. for May after these adjustments have been recorded. Begin your schedule with income before adjusting entries and then show the effect of each adjustment to arrive at net income after adjustment.
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128. Adjusting entries-effect on elements of financial statements
Galaxy Entertainment prepares monthly financial statements. On July 31, the accountant made adjusting entries to record:
(A.) Depreciation for the month of July.
(B.) The portion of prepaid rent for outdoor stage and seating which had expired in July.
(C.) Earning of ticket revenue for July which had been subscribed in advance. (When patrons purchase the Summer Jazz Series tickets in advance, the accountant credits Unearned Ticket Revenue.)
(D.) Amount owed to Universal from the caterer who sold food and beverages during the July performances. The amount due will be paid to the company on August 8.
(E.) Amount owed to the musicians which had accrued since the last pay day in July.
Indicate the effect of each of these adjusting entries on the major elements of the company's financial statements-that is, on revenue, expenses, net income, assets, liabilities, and owners' equity. Organize your answer in tabular form, using the column headings shown below and the symbols + for increase, - for decrease, and NE for no effect.
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129. Adjusting entries-effect on elements of financial statements
Whoop-It-Up, Inc. prepares monthly financial statements. On March 31, the company's accountant made adjusting entries to record:
(A) Depreciation for the month of March.
(B) Amount owed to Whoop-It-Up, Inc for March from the concessionaire operating a juice bar in the facility. The amount due will be remitted to Whoop-It-Up, Inc during the first week in April.
(C) Cost of supplies used in March. (When purchased, the cost of supplies is debited to an asset account.)
(D) Earning of a portion of annual membership fees which had been collected in advance. (When customers purchase annual memberships, an Unearned Revenue account is credited.)
(E) Accrued interest for March owed on a bank loan obtained March 1. No interest expense has yet been recorded.
Indicate the effect of each of these adjusting entries on the major elements of the company's financial statements-that is, on revenue, expenses, net income, assets, liabilities, and owner's equity. Organize your answer in tabular form, using the column headings shown below and the symbols + for increase, - for decrease, and NE for no effect.
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130. Effects of errors on financial statements
Indicate the immediate effect of the following errors on each of the accounting elements described in the column headings below, using the following code: O = Overstated; U = Understated; NE = No Effect.
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131. Effects of errors on financial statements
Indicate the immediate effect of the following errors on each of the accounting elements described in the column headings below, using the following code: O = Overstated; U = Understated; NE = No Effect.
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132. End-of-period adjustments - selected computations
Allied Architects adjusts its books each month and closes its books at the end of the year. The trial balance at January 31, 2010, before adjustments is as follows:
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The following information relates to month-end adjustments:
(a) According to contracts, consulting fees received in advance that were earned in January total $13,500.
(b) On November 1, 2009, the company paid in advance for 5 months' advertising in professional journals.
(c) At January 31, supplies on hand amount to $2,250.
(d) The equipment has an original estimated useful life of 4 years.
(e) The corporation is subject to income taxes of 25% of taxable income. (Assume taxable income is the same as "income before taxes.")
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133. End-of-period adjustments
West Laboratory adjusts and closes its accounts at the end of each month. The trial balance at September 30, 2010, before adjustments, is as follows:
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The following information relates to month end adjustments:
(a) Office supplies on hand September 30 amounted to $500.
(b) The useful life of the medical equipment was estimated to be 20 years with no residual
value.
(c) Many patients pay in advance for major medical procedures. Fees of $6,000 were earned during the month by performing procedures on patients who had paid in advance.
(d) Salaries earned by employees during the month but not yet recorded amounted to $2,300.
(e) On September 1, West Laboratory had moved and paid 2 month's rent in advance.
(f) Medical procedures performed during the month but not yet billed or recorded amounted to $4,600.
Prepare the adjusting entries required at September 30.
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134. Adjusting Entries
Identify four types of timing differences between cash flows and the recognition of expenses or revenues that may require adjusting entries. 


 


 


 

 

135. Materiality
(A.) Identify several factors considered by an accountant in deciding whether an item is "material."
(B.) Does the concept of materiality complicate or simplify the process of making adjusting entries? Give an illustration to support your answer. 


 


 


 

 

136. Adequate disclosure
(A.) Briefly explain what is meant by the principle of adequate disclosure.
(B.) How does professional judgment enter into the application of the principle of adequate disclosure?
(C.) List 5 types of information that a publicly-held corporation generally would be required to provide according to the concept of adequate disclosure. 


 


 


 

 

137. Purpose of adjusting entries
The president of Crown Construction was informed that the first quarter financial statements would be available "as soon as the adjusting entries are made." Being a non-accountant, the president feels adjustments should not be necessary if the accounting department is operating in a competent manner. Does the need for adjusting entries at the end of the quarter imply that transactions are not being recorded properly? Explain. 


 


 


 

 

138. Murphy's Auto Co. purchased a large piece of equipment on January 1, 1998. The equipment is being depreciated, using the Straight-Line method, at the rate of $16,000 per year. On January 5, 2009 the book value of the machine was $190,000.
(a) What was the original cost of the machine?
(b) What will the book value be on December 31, 2010? 


 


 


 

 

139. The Blue Chip Co. prepared the following income statement for December 31, 2011 but neglected to make the necessary adjusting entries.
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Required: Prepare a corrected income statement after considering the following:
(1.) The company had purchased a truck for $4,800 on January 1, 2011 which was expected to last 5 years. It was originally debited to the account "Truck" and credited to cash.
(2.) Salaries of $2,400 were owed to employees but not yet recorded.
(3.) The company owed $640 in accrued interest which was to be paid early in January 2012.
(4.) In November 2011, the company had received $3,600 of advance payments which were originally recorded as Unearned Revenue. One-third of this was earned in December, 2011. 


 


 


 

 

 


Multiple Choice Questions

 

140. Joseph Jewelers purchased display shelves on March 1 for $36,000. If this asset has an estimated useful life of five years, what is the book value of the display shelves on April 30? 
A. $600.
B. $34,800.
C. $33,600.
D. $900.

 

141. The adjusting entry to recognize an unrecorded expense is necessary: 
A. When an expense is paid in advance.
B. When an expense has been neither paid nor recorded as of the end of the accounting period.
C. Whenever an expense remains unpaid at the end of an accounting period.
D. Because the accountant is likely to forget to pay these unrecorded expenses.

 

142. Before any month-end adjustments are made, the net income of Lawrence Company is $550,000. However, the following adjustments are necessary: office supplies used, $35,000; services performed for clients but not yet recorded or collected, $12,300; interest accrued on note payable to bank, $14,100. After adjusting entries are made for the items listed above, Lawrence Company's net income would be: 
A. $541,400.
B. $488,600.
C. $583,200.
D. $513,200.

 

143. Of the following adjusting entries, which one results in an increase in liabilities and the recognition of an expense at the end of an accounting period? 
A. The entry to accrue salaries owed to employees at the end of the period.
B. The entry to record revenue earned but not yet collected or recorded.
C. The entry to record earned portion of rent previously received in advance from a tenant.
D. The entry to write off a portion of unexpired insurance.

 

144. The CPA firm auditing Indian Company found that net income had been overstated. Which of the following errors could be the cause? 
A. Failure to record depreciation expense for the period.
B. No entry made to record purchase of land for cash on the last day of the year.
C. Failure to record payment of an account payable on the last day of the year.
D. Failure to make an adjusting entry to record revenue which had been earned but not yet billed to customers.

 

 Manhattan Park adjusts its books each month and closes its books on December 31 each year. The trial balance at January 31, 2010, before adjustments, follows:
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145. According to attendance records, $8,200 of the Unearned Admission Revenue has been earned in January. Compute the amount of admissions revenue to be shown in the January income statement: 
A. $35,800.
B. $19,400.
C. $8,200.
D. $3,800.

 

146. At January 31, the amount of supplies on hand is $2,300. What amount is shown on the January income statement for supplies expense? 
A. $2,300.
B. $5,400.
C. $3,100.
D. $7,700.

 

147. The equipment has an original estimated useful life of six years. Compute the book value of the equipment at January31 after the proper January adjustment is recorded: 
A. $1,000.
B. $71,000.
C. $53,000.
D. $60,000.

 

148. Employees are owed $1,200 for services since the last payday in January to be paid the first week of February. No adjust​ment was made for this item. As a result of this error: 
A. Assets at January 31 are overstated.
B. January net income is overstated.
C. Liabilities at January 31 are overstated.
D. Owners' equity at January 31 is understated.

 

149. On August 1, 2009, the park purchased a 12-month insurance policy. The necessary adjusting entry at January 31 includes which of the following entries? (Hint: The company has adjusted its books on a monthly basis.) 
A. A debit to Insurance Expense for $1,050.
B. A credit to Unexpired Insurance for $11,550.
C. A credit to Unexpired Insurance for $1,800.
D. A debit to Unexpired Insurance for $10,800.

 

 


Essay Questions
 

 Scorpio Travel adjusts its books each month and closes its books on December 31 each year. The trial balance at January 31, 2009, before adjustments, follows:
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150. According to attendance records, $4,800 of the Unearned Admission Revenue has been earned in January. Compute the balance in the following accounts after the proper adjustment is made.
Unearned Admission Revenue account balance $__________
Admission Revenue account balance $__________ 


 


 


 

 

151. At January 31, the amount of supplies still on hand was determined to be $675. What amount should be reported in the January income statement for supplies expense? $__________ 


 


 


 

 

152. The equipment has an original useful life of eight years. Compute the book value of the equipment at January 31 after the proper January adjustment is recorded. $__________ 


 


 


 

 

153. $900 is owed to employees for work since the last payday in January, to be paid the first week of February. What is the effect on January net income if the accountant fails to make any January 31 adjustment for this item? 


 


 


 

 

154. On June 1, 2008, the park purchased a 12-month insurance policy. Give the adjusting entry to record insurance coverage expiring in January. (Hint: The company adjusts its books on a monthly basis.) 


 


 


 

 

155. The accountant for Rose's Emporium, Inc. prepared the following trial balance at January 31, 2010, after one month of operations:
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Additional information items:
a. Consulting services rendered to a client in January, not yet billed or recorded, $2,400.
b. Portion of insurance expiring in January, $300.
c. Income taxes expense for January of $2,500.
d. The office equipment has a life of 5 years.
Instructions: Prepare adjusting entries for a through d.
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Multiple Choice Questions
 

156. The purpose of adjusting entries is to: 
A. Adjust the Retained Earnings account for the revenue, expense, and dividends recorded during the accounting period.
B. Adjust daily the balances in asset, liability, revenue, and expense accounts for the effects of business transactions.
C. Apply the realization principle and the matching principle to trans​actions affecting two or more accounting periods.
D. Prepare revenue and expense accounts for recording the transactions of the next accounting period.

 

157. Before month-end adjustments are made, the January 31 trial balance of Rover Excursions contains revenue of $27,900 and expenses of $17,340. Adjustments are necessary for the following items:
( Portion of prepaid rent applicable to January: $2,700.
( Depreciation for January: $1,440.
( Portion of fees collected in advance earned in January: $3,300.
( Fees earned in January; not yet billed to customers: $1,950.
Net income for January is: 
A. $10,560.
B. $17,070.
C. $7,770.
D. (some other amount)

 

158. The CPA firm auditing Mason Street Recording Studios found that total stockholders' equity was understated and liabilities were overstated. Which of the following errors could have been the cause? 
A. Making the adjusting entry for depreciation expense twice.
B. Failing to record interest accrued on a note payable.
C. Failing to make the adjusting entry to record revenue which had been earned but not yet billed to clients.
D. Failing to record the earned portion of fees received in advance.

 

159. Assume Fisher Company usually earns taxable income, but sustains a loss in the current period. The entry to record income taxes expense in the current period will most likely: (indicate all correct answers.) 
A. Increase the amount of that loss.
B. Include a credit to the Income Taxes Expense account.
C. Be an adjusting entry, rather than an entry to record a transaction completed during the period.
D. Include a credit to Income Taxes Payable.

 

160. The concept of materiality (indicate all correct answers): 
A. Requires that financial statements are to be accurate to the nearest dollar, but need not show cents.
B. Is based upon what users of financial statements are thought to consider important.
C. Permits accountants to ignore other generally accepted accounting principles in certain situations.
D. Permits accountants to use the easiest and most convenient means of accounting for events that are immaterial.

 

Chapter 04 The Accounting Cycle: Accruals and Deferrals Answer Key
 

  


True / False Questions
 

1. Adjusting entries are needed whenever transactions affect the revenue or expenses of more than one accounting period. 
TRUE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-01 Explain the purpose of adjusting entries.
Topic: Adjusting Entries
 
2. The book value of a depreciable asset can be determined by its market value at a particular time. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
3. The adjusting entry to record estimated income taxes in a profitable period consists of a credit to Income Tax Expense and a debit to Income Tax Payable. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
4. The failure to record an adjusting entry for depreciation would cause assets to be overstated and net income to be understated. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
5. The need for adjusting entries results from timing differences between the receipt or disbursement of cash and the dates on the financial statements. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-01 Explain the purpose of adjusting entries.
Topic: Adjusting Entries
 
6. The adjusted trial balance may be used in place of the income statement. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-09 Prepare an adjusted trial balance and describe its purpose.
Topic: Adjusting Entries and Accounting Principles
 
7. The book value of an asset may also be called the market value of the asset. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
8. The period of time over which the cost of an asset is allocated to depreciation expense is called its useful life. 
TRUE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
9. The adjusted trial balance combines the trial balance items with the adjusting entries to determine the adjusted balances. 
TRUE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-09 Prepare an adjusted trial balance and describe its purpose.
Topic: Adjusting Entries and Accounting Principles
 
10. When a company receives cash in advance and it is obligated to provide a service or a product in the future, the entry would be a credit to a liability account and a debit to revenue. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Topic: Adjusting Entries
 
11. Adjusting entries are only required when errors are made. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Easy
Learning Objective: 04-01 Explain the purpose of adjusting entries.
Topic: Adjusting Entries
 
12. The Cash account is usually affected by adjusting entries. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Easy
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
13. Avalon Company paid $4,400 cash for an insurance policy providing three years protection against fire loss. This transaction could properly be recorded by a $4,400 debit to Unexpired Insurance and a $4,400 credit to Cash. 
TRUE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
14. Unearned revenue is a liability and should be reported on the income statement. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Medium
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Topic: Adjusting Entries
 
15. Unpaid expenses may be included as an expense on the income statement. 
TRUE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
16. Prepaid expenses are assets that should appear on the balance sheet. 
TRUE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
17. One of the purposes of adjusting entries is to convert assets to expenses. 
TRUE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
18. Every adjusting entry involves the recognition of either revenue or owner's equity. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
19. An adjusting entry to recognize that a fee received in advance has now been earned will cause an increase in total liabilities. 
FALSE

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-06 Prepare adjusting entries to accrue uncollected revenue.
Topic: Adjusting Entries and Accounting Principles
 
20. Omission of the adjusting entry needed to accrue an expense at the end of the period would cause liabilities to be understated. 
TRUE

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
21. Wages are an expense to the employer when earned, rather than when paid. 
TRUE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
22. Immaterial items may be accounted for in the most convenient manner, without regard to other theoretical concepts. 
TRUE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Easy
Learning Objective: 04-08 Explain the concept of materiality.
Topic: Adjusting Entries and Accounting Principles
 
23. All assets should be depreciated. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
24. Materiality is a matter of professional judgment. 
TRUE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-08 Explain the concept of materiality.
Topic: Adjusting Entries and Accounting Principles
 
25. An expenditure that benefits the year in which it is made should be deducted from revenue in the same year. 
TRUE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Easy
Learning Objective: 04-07 Explain how the principles of realization and matching relate to adjusting entries.
Topic: Adjusting Entries and Accounting Principles
 
26. An expenditure that benefits year one but is paid for in year two should not be capitalized until year two. 
FALSE

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
27. Companies that engage in fraud will often capitalize an asset rather than an expense account. 
TRUE

 


AACSB: Ethics
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
 


Multiple Choice Questions
 

28. If Hot Bagel Co. estimates depreciation on an automobile to be $578 for the year, the company should make the following adjusting entry: 
A. Debit Accumulated Depreciation $578 and credit Depreciation Expense $578.
B. Debit Depreciation Expense $578 and credit Automobile $578.
C. Debit Depreciation Expense $578 and credit Accumulated Depreciation $578.
D. Debit Automobile $578 and credit Depreciation Expense $578.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
29. Accumulated Depreciation is: 
A. An asset account.
B. A revenue account.
C. A contra-asset account.
D. An expense account.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
30. Adjusting entries are prepared: 
A. Before financial statements and after a trial balance has been prepared.
B. After a trial balance has been prepared and after financial statements are prepared.
C. After posting but before a trial balance is prepared.
D. Anytime an accountant sees fit to prepare the entries.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Medium
Learning Objective: 04-01 Explain the purpose of adjusting entries.
Topic: Adjusting Entries
 
31. The normal balance of the Accumulated Depreciation account is: 
A. A debit balance.
B. A credit balance.
C. Either a debit balance or a credit balance.
D. There is no normal balance for this account.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
32. Unearned revenue may also be called: 
A. Net income.
B. Deferred revenue.
C. Unexpired revenue.
D. Services rendered.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Topic: Adjusting Entries
 
33. The adjusting entry to record income taxes at the end of an unprofitable accounting period consists of a: 
A. Debit to Income Tax Expense and a credit to Income Tax Payable.
B. Credit to Income Tax Expense and a debit to Income Tax Payable.
C. Credit to Income Tax Receivable and a debit to Income Tax Expense.
D. No adjusting entry is required for income taxes if there are no profits.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
34. Which of the following is not considered a basic type of adjusting entry? 
A. An entry to convert a liability to a revenue.
B. An entry to accrue unpaid expenses.
C. An entry to convert an asset to an expense.
D. An entry to convert an asset to a liability.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
35. The United Shipping Co. made an adjusting entry accruing interest for $800 on a note payable for the month of January. The note required 12% per annum on the principal. The principal amount of the note payable must have been: 
A. $7,000.
B. $9,600.
C. $80,000.
D. $10,800.

($800/.12) x 12 = $80,000

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
36. Rose Corp. has a note receivable from Jewel Co for $80,000. The note matures in 5 years and bears interest of 6%. Rose is preparing financial statements for the month of June. Rose should make an adjusting entry: 
A. Debiting Interest Revenue for $400 and crediting Interest Receivable for $400.
B. Debiting Interest Receivable for $400 and crediting Interest Revenue for $400.
C. Debiting Interest Revenue for $4,800 and crediting Interest Receivable for $4,800.
D. Crediting Interest Payable for $400 and debiting Interest Expense for $400.

($80,000 x .06)/12 = $400

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-06 Prepare adjusting entries to accrue uncollected revenue.
Topic: Adjusting Entries
 
37. Hahn Corp. has three employees. Each earns $600 per week for a five day work week ending on Friday. This month the last day of the month falls on a Wednesday. The company should make an adjusting entry: 
A. Debiting Wage Expense for $1,080 and crediting Wages Payable for $1,080.
B. Debiting Wage Expense for $360 and crediting Wages Payable for $360.
C. Crediting Wage Expense for $1,080 and debiting Wages Payable for $1,080.
D. Crediting Wage Expense for $360 and debiting Wages Payable for $360.

$600 x 3/5 x 3 = $1,080

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
38. Which of the following activities is least likely to be limited to "year-end"? 
A. Closing the accounts.
B. Drafting notes to accompany statements.
C. Recording routine transactions.
D. Undergoing an audit.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-01 Explain the purpose of adjusting entries.
Topic: Adjusting Entries
 
39. Depreciation is: 
A. An exact calculation of the decline in value of an asset.
B. Only an estimate of the decline in value of an asset.
C. Only recorded at the end of a year and never over a shorter time period.
D. Management must know the exact life of an asset in order to calculate an acceptable depreciation expense.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Easy
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
40. We can compare income of the current period with income of a previous period to determine whether the operating results are improving or declining: 
A. Only if each accounting period covered is a full year.
B. Only if the same accountant prepares the income statement each period.
C. Only if the accounting periods are equal in length.
D. Only if a manual accounting system is used in both periods.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-01 Explain the purpose of adjusting entries.
Topic: Adjusting Entries
 
41. The purpose of adjusting entries is to: 
A. Prepare the revenue and expense accounts for recording the revenue and expenses of the next accounting period.
B. Record certain revenue and expenses that are not properly measured in the course of recording daily routine transactions.
C. Correct errors made during the accounting period.
D. Update the owners' equity account for the changes in owners' equity that had been recorded in revenue and expense accounts throughout the period.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Medium
Learning Objective: 04-01 Explain the purpose of adjusting entries.
Topic: Adjusting Entries
 
42. Unearned revenue is: 
A. An asset.
B. Income.
C. A liability.
D. An expense.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Topic: Adjusting Entries
 
43. Which of the following is not a purpose of adjusting entries? 
A. To prepare the revenue and expense accounts for recording transactions of the following period.
B. To apportion the proper amounts of revenue and expense to the current accounting period.
C. To establish the proper amounts of assets and liabilities in the balance sheet.
D. To accomplish the objective of offsetting the revenue of the period with all the expenses incurred in generating that revenue.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-01 Explain the purpose of adjusting entries.
Topic: Adjusting Entries
 
44. Which of the following situations does not require Empire Company to record an adjusting entry at the end of January? 
A. On January 1, Empire Company purchased delivery equipment with an estimated useful life of five years.
B. On January 1, Empire Company began delivery service for a large client who will pay at the end of a three-month period.
C. At the end of January, Empire Company pays the custodian for January office cleaning services.
D. On January 1, Empire Company paid rent for six months on its office building.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
45. Adjusting entries are needed: 
A. Whenever revenue is not received in cash.
B. Whenever expenses are not paid in cash.
C. Only to correct errors in the initial recording of business transactions.
D. Whenever transactions affect the revenue or expenses of more than one accounting period.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
46. Adjusting entries help achieve the goals of accrual accounting by applying the following two accounting principles: 
A. Business entity concept and realization principle.
B. Cost principle and the accounting equation.
C. Realization principle and matching principle.
D. Matching principle and safety principle.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-07 Explain how the principles of realization and matching relate to adjusting entries.
Topic: Adjusting Entries and Accounting Principles
 
47. No adjusting entry should consist of: 
A. A debit to an expense and a credit to an asset.
B. A debit to an expense and a credit to revenue.
C. A debit to an expense and a credit to a liability.
D. A debit to a liability and a credit to revenue.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
48. The entry to record depreciation is an example of an adjusting entry: 
A. To apportion a recorded cost.
B. To apportion unearned revenue.
C. To convert a liability to revenue.
D. To record unrecorded revenue.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
49. During the last month of its fiscal year, Echo Lake Resort accepted numerous deposits from customers. By the end of the month many, but not all, of these guests had completed their stays. The entry to record this event is an example of an adjusting entry: 
A. To apportion a recorded cost.
B. To apportion unearned revenue.
C. To record unrecorded expenses.
D. To record unearned revenue.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-06 Prepare adjusting entries to accrue uncollected revenue.
Topic: Adjusting Entries
 
50. Prepaid expenses are: 
A. Assets.
B. Income.
C. Liabilities.
D. Expenses.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
51. Colonial Systems prepares monthly financial statements. Colonial would record a prepaid expense in each of the following situations except: 
A. Colonial Systems purchased a two-year fire insurance policy.
B. Colonial Systems paid for six months' gardening services in advance.
C. A tenant paid Colonial Systems three months' rent in advance.
D. Colonial Systems purchased enough office supplies to last several months.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
52. Which of the following statements is not true regarding prepaid expenses? 
A. Prepaid expenses represent assets.
B. Prepaid expenses are shown in a special section of the income statement.
C. Prepaid expenses become expenses only as goods or services are used up.
D. Prepaid expenses appear in the balance sheet.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
53. The concept of materiality: 
A. Involves only tangible assets and not intangible assets.
B. Relates only to the income statement and not the balance sheet.
C. Is always an exact percentage of a financial account balance.
D. Is measured as an item significant enough to influence the decisions of users of financial statements.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-08 Explain the concept of materiality.
Topic: Adjusting Entries and Accounting Principles
 
54. The balance of an unearned revenue account: 
A. Appears in the balance sheet as a component of owners' equity.
B. Appears in the income statement along with other revenue accounts.
C. Appears in a separate section of the income statement for revenue not yet earned.
D. Appears in the liability section of the balance sheet.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Medium
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Topic: Adjusting Entries
 
55. In which of the following situations would Daystar Company record unearned revenue in May? 
A. In April, Daystar Company received payment from a customer for services that are performed in May.
B. Daystar Company completes a job for a customer in May; payment will be received in June.
C. Daystar Company is paid on May 25 for work done in the first two weeks of May.
D. Daystar Company receives payment in May for work to be performed in June and July.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Topic: Adjusting Entries
 
56. Interest that has accrued during the accounting period on a note payable requires an adjusting entry consisting of: 
A. A debit to Interest Expense and a credit to Cash.
B. A debit to Notes Payable and a credit to Interest Payable.
C. A debit to an asset and a credit to a liability.
D. A debit to Interest Expense and a credit to Interest Payable.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
57. The adjusting entry to record interest that has accrued on a note payable to the bank will cause an immediate: 
A. Increase in liabilities and reduction in net income.
B. Decrease in liabilities and reduction in net income.
C. Decrease in assets and reduction in net income.
D. Increase in assets and increase in net income.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
58. Which of the following would not be considered an adjusting entry?
 [image: image23.wmf]  
A. A Above.
B. B Above.
C. C Above.
D. D Above.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
59. In which of the following situations would an adjusting entry be made at the end of January to record an accrued expense? 
A. Ramona's Nursery purchased playground equipment on January 1 with an estimated useful life of six years.
B. On January 25, Ramona's Nursery hired a college student to drive the minibus; the new employee is to begin work in February.
C. January 31 falls on a Tuesday; salaries are paid on Friday of each week.
D. On January 31, Ramona's Nursery paid the interest owed on a note payable for January.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
60. As of January 31, Princess Company owes $500 to Butler Co. for equipment rented during January. If no adjustment is made for this item at January 31, how will Princess's financial statements be affected? 
A. Cash will be overstated at January 31.
B. Net income for January will be overstated.
C. Owners' equity will be understated.
D. The financial statements will be accurate since the $500 does not have to be paid yet.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
61. The accountant for the Grassroots Company failed to make an adjusting entry to record revenue earned but not yet billed to customers. The effect of this error is: 
A. An overstatement of assets and of net income offset by an understatement of owners' equity.
B. An overstatement of net income and an understatement of assets.
C. An understatement of assets, net income, and owners' equity.
D. An overstatement of liabilities offset by an understatement of owners' equity.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-06 Prepare adjusting entries to accrue uncollected revenue.
Topic: Adjusting Entries
 
62. Recently, Bon Appetite Café contracted and paid for a relatively expensive advertisement in Haute Cuisine magazine. Despite the fact that the ad will appear in Haute Cuisine three months after the end of Bon Appetite Café's current fiscal year, the Cafe's accountant recorded the disbursement to advertising expense. If no adjusting entry is made, how will this year's financial statements of Bon Appetite Café be affected? 
A. Net income will be overstated and total assets will be understated.
B. Net income will be overstated and total assets will be overstated.
C. Net income will be understated and total assets will be understated
D. Net income will be understated and total assets will be overstated.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
63. An adjusting entry involving recognition of accrued revenue is necessary at the end of March in which of the following situations? 
A. Midwood Consultants received payment in February for consulting services rendered in March.
B. Midwood Consultants began working for a client on March 15; bills will be sent monthly beginning April 15.
C. Midwood Consultants made payment in January for office rent for the first three months of the year.
D. On March 31, a major customer paid his bill for a consulting job completed in February.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-06 Prepare adjusting entries to accrue uncollected revenue.
Topic: Adjusting Entries
 
64. An example of a contra-asset account is: 
A. Depreciation Expense.
B. Accumulated Depreciation.
C. Prepaid expenses.
D. Unearned revenue.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
65. Which of the following entries causes an immediate decrease in assets and in net income? 
A. The entry to record depreciation expense.
B. The entry to record revenue earned but not yet received.
C. The entry to record the earned portion of rent received in advance.
D. The entry to record accrued wages payable.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
66. Which of the following is not considered an end-of-period adjusting entry? 
A. The entry to record the portion of unexpired insurance which has become expense during the period.
B. An entry to record revenue which has been earned but has not yet been billed to customers.
C. The entry to record depreciation expense.
D. An entry to record repayment of a bank loan and to recognize related interest expense.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
67. Which of the following is the accounting principle that governs the timing of revenue recognition? 
A. Realization principle.
B. Materiality.
C. Matching.
D. Depreciation.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Medium
Learning Objective: 04-07 Explain how the principles of realization and matching relate to adjusting entries.
Topic: Adjusting Entries and Accounting Principles
 
68. Which of the following statements concerning materiality is true? 
A. Generally accepted accounting principles are violated if estimates are used in end-of-period adjustments.
B. Each year the Financial Accounting Standards Board (FASB) publishes the dollar amount considered "material" for each industry.
C. Immaterial items should be handled in the most expedient manner, even if resulting financial statements are not completely precise.
D. Accountants should not waste time and money in recording transactions involving small dollar amounts.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-08 Explain the concept of materiality.
Topic: Adjusting Entries and Accounting Principles
 
69. The concept of materiality: 
A. Treats as material only those items that are greater than 2% or 3% of net income.
B. Justifies ignoring the matching principle or the realization principle in certain circumstances.
C. Affects only items reported in the income statement.
D. Results in financial statements that are less useful to decision makers because many details have been omitted.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-08 Explain the concept of materiality.
Topic: Adjusting Entries and Accounting Principles
 
70. Which of the following would not be a proper application of the concept of materiality by Millridge Corporation? 
A. Transactions involving small dollar amounts are not recorded in Millridge's accounting records.
B. Estimates of supplies on hand are used to determine the supplies expense for the period.
C. On a monthly basis, utility bills are expensed in the month paid, rather than in the month in which services are used.
D. Immaterial items are ignored in making end-of-period adjusting entries.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-08 Explain the concept of materiality.
Topic: Adjusting Entries and Accounting Principles
 
71. After preparing the financial statements for the current year, the accountant for Barbara's Jewel Co closed the dividends account at year-end by debiting Retained Earnings and crediting the dividends account. What is the effect of this entry on current-year net income and the balance in the owners' equity account(s) at year-end? 
A. Net income is overstated; balance in the retained earnings account is correct.
B. Net income is correct; balance in the capital stock account is correct.
C. Net income is understated; balance in the capital stock account is correct.
D. Net income is understated; balance in the retained earnings account is understated.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-09 Prepare an adjusted trial balance and describe its purpose.
Topic: Adjusting Entries and Accounting Principles
 
72. Which of the following accounting principles is concerned with offsetting revenue with the expenses incurred in producing that revenue? 
A. Realization principle.
B. Materiality.
C. Matching.
D. Depreciation.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Medium
Learning Objective: 04-07 Explain how the principles of realization and matching relate to adjusting entries.
Topic: Adjusting Entries and Accounting Principles
 
73. Which of the following is not an example of an adjusting entry? 
A. The entry to record unpaid expenses.
B. The entry to record uncollected revenues.
C. The entry to convert liabilities to revenue.
D. The entry to pay outstanding bills.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Easy
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
74. Unearned revenue appears: 
A. As income on the income statement.
B. As an asset on the balance sheet.
C. As a liability on the balance sheet.
D. As a part of the retained earnings.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Topic: Adjusting Entries
 
75. Prepaid expenses appear: 
A. As an expense on the income statement.
B. As an asset on the balance sheet.
C. As a liability on the balance sheet.
D. As a reduction to retained earnings.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
76. Which of the following is considered an adjusting entry? 
A. The entry to record depreciation.
B. The entry to pay salaries.
C. The entry to pay outstanding bills.
D. The entry to declare a dividend distribution.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Easy
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
77. Which of the following is considered a contra-asset account? 
A. Prepaid expenses.
B. Unearned revenue.
C. Accumulated depreciation.
D. Accounts receivable.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
78. Which statement is true about land? 
A. Land should be depreciated over the same period as the building located on it.
B. Land cannot be depreciated for greater than a 40-year period.
C. Land should not be depreciated.
D. The straight line method should be used to depreciate land.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Easy
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
79. Which statement is true about an adjusted trial balance? 
A. It is prepared before adjusting entries.
B. Revenue accounts and expense accounts should not appear on the adjusted trial balance.
C. Balance sheet items are presented before income statement items.
D. Accumulated depreciation should equal depreciation expense.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-09 Prepare an adjusted trial balance and describe its purpose.
Topic: Adjusting Entries and Accounting Principles
 
80. On the adjusted trial balance, retained earnings is: 
A. Stated at the period-end amount.
B. Stated at the period-beginning amount.
C. Adjusted for all revenues and expenses for the period.
D. Adjusted for the period's dividends.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-09 Prepare an adjusted trial balance and describe its purpose.
Topic: Adjusting Entries and Accounting Principles
 
81. Depreciation expense is: 
A. Only an estimate.
B. An exact calculation prepared by an appraiser.
C. Not to be calculated unless the exact life of an asset can be determined.
D. To be determined for all assets owned by a company.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Easy
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
82. The cost of insurance is considered an expense: 
A. Only when the entire policy period has passed.
B. Only when the policy is purchased.
C. Only when the premium is paid.
D. Evenly over the term of the policy.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Easy
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
83. Shop supplies are expensed when: 
A. Consumed.
B. Purchased.
C. Paid for.
D. Ordered.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
84. Accumulated depreciation is: 
A. The depreciation expense recorded on an asset to date.
B. The remaining book value of an asset.
C. The depreciation expense taken on an asset during the current period.
D. An expense on the income statement.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
85. The accrual of interest on a note payable will: 
A. Reduce total liabilities.
B. Increase total liabilities.
C. Have no effect upon total liabilities.
D. Will have no effect upon the income statement but will affect the balance sheet.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
86. In which of the following situations would the largest amount be recorded as an expense of the current year? (Assume accrual basis accounting.) 
A. $4,000 is paid in January for equipment with a useful life of four years.
B. $1,800 is paid in January for a two-year fire insurance policy.
C. $10,000 cash is withdrawn by the owner for personal use.
D. $900 is paid to an attorney for legal services rendered during the current year.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
87. Gourmet Shop purchased cash registers on April 1 for $12,000. If this asset has an estimated useful life of four years, what is the book value of the cash registers on May 31? 
A. $250.
B. $3,000.
C. $9,000.
D. $11,500.

$12,000/48 = $250; $12,000 - (2 x $250) = $11,500

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
88. Videobusters, Inc. offered books of video rental coupons to its patrons at $40 per book. Each book contained a certain number of coupons for video rentals. During the current period 500 books were sold for $20,000, and this amount was credited to Unearned Rental Revenue. At the end of the period, it was determined that $15,000 worth of book coupons had been used by customers to rent videos. The appropriate adjusting entry at the end of the period would be: 
A. Debit Rental Revenue $5,000 and credit Unearned Rental Revenue $5,000.
B. Debit Rental Revenue $15,000 and credit Unearned Rental Revenue $15,000.
C. Debit Unearned Rental Revenue $5,000 and credit Rental Revenue $5,000.
D. Debit Unearned Rental Revenue $15,000 and credit Rental Revenue $15,000.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Topic: Adjusting Entries
 
89. Regal Real Estate which maintains its accounts on the basis of a fiscal year ending June 30, began the management of an office building on June 15 for an agreed annual fee of $4,800. The first payment is due on July 15. The adjusting entry required at June 30 is: 
A. A debit to Management Fees Receivable for $200 and a credit to a revenue account for $200.
B. A $200 debit to Unearned Management Fees and a $200 credit to Management Fees Earned.
C. A debit to Cash for $200 and a credit to Management Fees Earned.
D. A debit to Cash for $400 offset by a credit to a revenue account for $200 and a liability for $200.

$4,800/12 = $400 x ½ = $200

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-06 Prepare adjusting entries to accrue uncollected revenue.
Topic: Adjusting Entries
 
90. Great Kids Co. began providing day care for the children of employees of a large corporation on January 15 for an agreed monthly fee of $9,000. The first payment is to be received on February 15. The adjusting entry required by Great Kids Co. on January 31 includes: 
A. A credit to Child Care Fees Earned of $4,500.
B. A debit to Child Care Fees Receivable of $9,000.
C. A debit to Unearned Child Care Revenue of $4,500.
D. A debit to Fees Receivable of $9,000.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-06 Prepare adjusting entries to accrue uncollected revenue.
Topic: Adjusting Entries
 
91. Before any month-end adjustments are made, the net income of Bennett Company is $76,000. The following adjustments are necessary: office supplies used, $3,160; services performed for clients but not yet recorded or collected, $3,640; interest accrued on note payable to bank, $3,040. After adjusting entries are made for the items listed above, Bennett Company's net income will be: 
A. $66,160.
B. $78,560.
C. $73,440.
D. $76,000

$76,000 - $3,160 + $3,640 - $3,040 = $73,440

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
92. The accountant for Perfect Painting forgot the following two adjustments at the end of 2010:
(a) The entry to record depreciation: $3,000.
(b) The entry to record the portion of fees received in advance which have now been earned: $3,000.
As a result of these two omissions: 
A. Net income for Perfect Painting for 2010 is overstated.
B. Net income for Perfect Painting for 2010 is understated.
C. Assets of Perfect Painting are overstated at December 31, 2010.
D. Liabilities of Perfect Painting are understated at December 31, 2010.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
93. Before making month-end adjustments, net income of Cardinal Company was $116,000 for March. Adjusting entries are necessary for the following items:
-Depreciation for the month of March: $2,300.
-Interest income accrued to March 31, on deposits in banks: $800.
-Supplies used in March: $100.
-Fees earned in March that had been collected in advance: $2,600.
After recording these adjustments, net income for March is: 
A. $112,400.
B. $113,620.
C. $117,000.
D. $110,800.

$116,000 - $2,300 + $800 - $100 + $2,600 = $117,000

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
 Omega Company adjusts its accounts at the end of each month. The following information has been assembled in order to prepare the required adjusting entries at December 31:
(1) A one-year bank loan of $720,000 at an annual interest rate of 12% had been obtained on December 1.
(2) The company pays all employees up-to-date each Friday. Since December 31 fell on Tuesday, there was a liability to employees at December 31 for two day's pay amounting to $6,800.
(3) On December 1, rent on the office building had been paid for four months. The monthly rent is $6,000.
(4) Depreciation of office equipment is based on an estimated useful life of six years. The balance in the Office Equipment account is $9,360; no change has occurred in the account during the year.
(5) Fees of $9,800 were earned during the month for clients who had paid in advance.

 

94. What amount of interest expense has accrued on the bank loan? 
A. $6,400.
B. $7,000.
C. $7,200.
D. $7,800.

$720,000 x .12 x 1/12 = $7,200

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
95. The accrued interest should be: 
A. Debited to Notes Payable.
B. Credited to Interest Payable.
C. Credited to Cash.
D. Credited to Interest Expense.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
96. By what amount will the book value of the office equipment decline after the appropriate December adjustment is recorded? 
A. $1,560.
B. $130.
C. $0.
D. $1,430.

$9,360/72 = $130

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
97. After the appropriate adjusting entry is recorded, the balance in the liability account Unearned Fees will: 
A. Decrease by $9,800.
B. Increase by $9,800.
C. Equal $9,800.
D. Be unaffected.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Topic: Adjusting Entries
 
98. The entry to record rent expense will include: 
A. A debit to Prepaid Rent for $6,000.
B. A credit to Prepaid Rent for $6,000.
C. A credit to Prepaid Rent for $18,000.
D. A debit to Prepaid Rent for $18,000.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Easy
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
99. Failure to make the appropriate adjustment to the Salary Expense account will: 
A. Understate net income for December by $6,800.
B. Understate net income for January by $6,800.
C. Overstate total liabilities at December 31.
D. Overstate the balance in Cash at December 31.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
 Hoffman, Inc. adjusts its books each month but closes its books at the end of the year. The trial balance at March 31 before adjustments is as follows:
 [image: image24.wmf] 

 

100. According to service contracts, $4,810 of the Unearned Service Revenue has been earned in March. The amount of Service Revenue Earned to be reported in the March income statement is: 
A. $16,510.
B. $21,320.
C. $11,700.
D. $20,410.

$16,510 + $4,810 = $21,320

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Topic: Adjusting Entries
 
101. On March 1, Hoffman paid in advance for four months' insurance. The necessary adjusting entry at March 31 includes which of the following? 
A. A credit to Prepaid Insurance for $2,340.
B. A credit to Prepaid Insurance for $780.
C. A debit to Prepaid Insurance for $2,340.
D. A debit to Prepaid Insurance for $780.

$3,120/4 = $780

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
102. At March 31, the amount of supplies on hand is $520. What amount is reported in the January income statement for supplies expense? 
A. $1,300.
B. $0.
C. $520.
D. $780.

$1,300 - $520 = $780

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
103. The equipment had an estimated useful life of five years. Compute the book value of the equipment at March 31, after the proper March adjustment is recorded. 
A. $10,833.
B. $15,167.
C. $25,567.
D. $10,400.

$26,000/60 = $433; $10,400 + $433 = $10,833; $26,000 - $10,833 = $15,167

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
104. Employees are owed $750 for services since the last payday in March, to be paid the first week in April. The amount to be reported in the March income statement for salaries expense is: 
A. $7,800.
B. $750.
C. $7,050.
D. $8,550.

$7,800 + $750 = $8,550

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
105. On December 31, Louis Jeweler's made an adjusting entry to record $4,200 accrued interest payable on its mortgage. On January 10, the mortgage payment was made. This payment included interest charges of $6,300, $2,100 of which were applicable to the period from January 1 through January 10. When recording this mortgage payment, the accountant should: 
A. Debit Interest Expense $2,100 and debit Accrued Interest Payable $4,200.
B. Debit Interest Expense $6,300.
C. Debit Accrued Interest Payable $6,300.
D. Debit Interest Expense $2,100 and credit Accrued Interest Payable $4,200.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
106. An asset purchased on January 1, 2006 for $60,000 that has an estimated life of 10 years will have a book value on December 31, 2009 of: 
A. $60,000.
B. $24,000.
C. $36,000.
D. $42,000.

$60,000/10 = $6,000 x 4 = $24,000; $60,000 - $24,000 = $36,000

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
107. If an asset was purchased on January 1, 2006 for $140,000 with an estimated life of 5 years, what is the accumulated depreciation at December 31, 2009? 
A. $28,000.
B. $112,000.
C. $56,000.
D. $84,000.

$140,000/5 = $28,000 x 4 = $112,000

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
108. Under accrual accounting, salaries earned by employees but not yet paid should be expensed: 
A. In the period in which they are earned.
B. In the period in which they are paid.
C. In the period with the higher earnings.
D. In the period with the lower earnings.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Easy
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
109. Under accrual accounting, fees received in advance from customers should be shown as being earned: 
A. When cash is collected.
B. When services are performed or goods delivered.
C. When tax rates are low.
D. When tax rates are high.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Easy
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Topic: Adjusting Entries
 
110. Dolphin Co. received $1,500 in fees during 2009, 1/3 of which was earned in 2010, the rest was earned when received. The company should report which of the following amounts as income in 2009? 
A. $1,500.
B. $500.
C. $1,000.
D. $0.

$1,500 x 2/3 =$1,000

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 04-07 Explain how the principles of realization and matching relate to adjusting entries.
Topic: Adjusting Entries and Accounting Principles
 
111. Swordfish Co. earned $75,000 in 2009 and expects to receive 2/3 of the amount in 2010 and the remainder in 2011. How much revenue should they report in 2009? 
A. $0.
B. $25,000.
C. $50,000.
D. $75,000.

$75,000 x 100%

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 04-07 Explain how the principles of realization and matching relate to adjusting entries.
Topic: Adjusting Entries and Accounting Principles
 
112. Tuna Co. purchased a building in 2009 for $650,000 and debited an asset called "Buildings" for the entire amount. The company never depreciated the building although it had a useful life of 15 years. This action will cause: 
A. Net income to be understated.
B. Net income to be overstated.
C. Net income will not be affected.
D. Total assets will be understated.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
113. Leland Corp. has a note receivable from Jewel Co for $50,000. The note matures in 2 years and bears interest of 3%. Leland is preparing financial statements for the quarter ending June 30. Leland should make an adjusting entry: 
A. Debiting Interest Revenue for $375 and crediting Interest Receivable for $375.
B. Debiting Interest Receivable for $375 and crediting Interest Revenue for $375.
C. Debiting Interest Revenue for $1,500 and crediting Interest Receivable for $1,500.
D. Crediting Interest Payable for $375 and debiting Interest Expense for $375.

($50,000 x .03)/4 = $375

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-06 Prepare adjusting entries to accrue uncollected revenue.
Topic: Adjusting Entries
 
114. Mounder Corp. charges interest on its past due accounts receivable. A late fee of 18% per annum is added to each past due account. Mounder is preparing financial statements for the month of July and has determined there are $18,000 in past due accounts. Mounder should make an adjusting entry as follows 
A. Debiting Late Fee Revenue for $270 and crediting Accounts Receivable for $270.
B. Debiting Accounts Receivable for $270 and crediting Late Fee Revenue for $270
C. Debiting Late Fee Revenue for $3,240 and crediting Late Fee Receivable for $3,240.
D. Crediting Late Fee Payable for $270 and debiting Late Fee Expense for $270.

($18,000 x .18)/12 = $270

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-06 Prepare adjusting entries to accrue uncollected revenue.
Topic: Adjusting Entries
 
115. Gordy's Corp. has seven employees. Each earns $800 per week for a five day work week ending on Friday. This month, the last day of the month falls on a Thursday. The company should make an adjusting entry: 
A. Debiting Wage Expense for $4,480 and crediting Wages Payable for $4,480.
B. Debiting Wage Expense for $640 and crediting Wages Payable for $640.
C. Crediting Wage Expense for $4,480 and debiting Wages Payable for $4,480.
D. Crediting Wage Expense for $640 and debiting Wages Payable for $640.

$800 x 4/5 x 7 = $4,480

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
116. Before any month-end adjustments are made, the net income of Russell Company is $38,000. However, the following adjustments are necessary: office supplies used, $3,160; services performed for clients but not yet recorded or collected, $3,040; interest accrued on a note payable to bank, $3,640. After adjusting entries are made for the items listed above, Russell Company's net income would be: 
A. $38,000.
B. $34,240.
C. $41,160.
D. $44,200.

$38,000 - $3,160 + $3,040 - $3,640 = $34,240

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
117. Before making month-end adjustments, net income of Bobwhite Company was $232,000 for March. Adjusting entries are necessary for the following items: 
-Depreciation for the month of March: $4,300.
-Interest income accrued to March 31, on deposits in banks: $900.
-Supplies used in March: $300.
-Fees earned in March that had been collected in advance: $3,600.
After recording these adjustments, net income for March is: 
A. $222,900.
B. $227,700.
C. $231,900.
D. $235,600.

$232,000 - 4,300 + $900 - $300 + $3,600 = $231,900

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
 Gamma Company adjusts its accounts at the end of each month. The following information has been assembled in order to prepare the required adjusting entries at December 31:
(1) A one-year bank loan of $720,000 at an annual interest rate of 6% had been obtained on December 1.
(2) The company pays all employees up-to-date each Friday. Since December 31 fell on Tuesday, there was a liability to employees at December 31 for two day's pay. Employees earn a total of $12,800 per week.
(3) On December 1, rent on the office building had been paid for three months. The monthly rent is $7,000.
(4) Depreciation of office equipment is based on an estimated useful life of five years. The balance in the Office Equipment account is $12,360; no change has occurred in the account during the year.
(5) All fees totaling $19,800 were earned during the month for clients who had paid in advance.

 

118. What amount of interest expense has accrued on the bank loan? 
A. $3,200.
B. $3,500.
C. $3,600.
D. $3,900.

$720,000 x .06 x 1/12 = $3,600

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
119. How much is owed the employees for their wages? 
A. $0.
B. $2,560.
C. $5,120.
D. $12,800.

$12,800 x 2/5 = $5,120

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Topic: Adjusting Entries
 
120. What should be the balance of Prepaid Rent on December 31? 
A. $0.
B. $7,000.
C. $14,000.
D. $21,000.

$7,000 x 2 = $14,000

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
121. How much depreciation expense should be recognized for December? 
A. $206.
B. $2,472.
C. $12,360.
D. $19,800.

$12,360/60 = $206

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
122. What should be the December 31 balance for Unearned Revenue? 
A. $0.
B. $1,650.
C. $12,360.
D. $19,800.

$0 all revenue has been earned.

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Topic: Adjusting Entries
 
 


Essay Questions
 

123. Accounting terminology
Listed below are nine technical accounting terms emphasized in this chapter:
 [image: image25.wmf] 
Each of the following statements may (or may not) describe one of these technical terms. In the space provided below each statement, indicate the accounting term described, or answer "None" if the statement does not correctly describe any of the terms.
____ (a.) An account with a credit balance that is an offset against an asset account.
____ (b.) A contra-account.
____ (c.) A liability to customers who have paid in advance.
____ (d.) The estimated current value of an asset.
____ (e.) Entries made to achieve the goals of accrual accounting when revenue or expense transactions span more than one accounting period.
____ (f.) An asset that will expire shortly.
____ (g.) Revenue that has been earned, but not yet received. 

(a) Contra-asset (b) Accumulated depreciation (c) Unearned revenue (d) None (Book value is based on cost, not estimated current market value.) (e) Adjusting entries (f) Prepaid expense (g) Accrued revenue

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
124. Adjusting entries
Selected ledger accounts used by Cross Country Truck Rentals, Inc. are listed along with identifying numbers. Following this list of account numbers and titles is a series of transactions. For each transaction, you are to indicate the proper accounts to be debited and credited.
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AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
125. Adjusting entries
Selected ledger accounts used by American Advertising, Inc., are listed along with identifying numbers. Following this list of account numbers and titles is a series of transactions. For each transaction, you are to indicate the proper accounts to be debited and credited.
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AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
126. End-of-period adjustments-effect on net income
Before making any year-end adjusting entries, the revenues of Hot Jazz Studio exceeded expenses by $127,000. However, the following adjustments are necessary:
(A.) Prepaid rent consumed, $1,500.
(B.) Services rendered to clients but not yet billed, $20,000.
(C.) Interest accrued on notes payable, $1,100.
(D.) Depreciation, $4,800.
(E.) Accrued wages payable, $3,900.
(F.) Fees collected in advance which have now been earned, $7,100.
Complete the schedule to determine the net income of Hot Jazz Studio after these adjustments have been recorded. Show the effect of each adjustment in the space provided. Compute net income after adjustments and place answer in space provided.
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AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
127. End-of-period adjustments-effect on net income
Ocean View, Inc. reported revenues of $645,000 and expenses of $360,000 for the month of May, before making any month-end adjusting entries. The following data are provided regarding adjusting entries:
(A.) Portion of insurance expiring in May, $2,520.
(B.) A customer has used the facilities for two weeks in May; the fee of $4,200 has not yet been billed.
(C.) Amount owed for salaries accrued in the last week of May, $1,650.
(D.) Depreciation on equipment for May $1,290.
(E.) Supplies used in May, $13,125.
(F.) Fees collected in advance which have been earned during May, $23,400.
Complete the schedule to determine the net income of Ocean View Inc. for May after these adjustments have been recorded. Begin your schedule with income before adjusting entries and then show the effect of each adjustment to arrive at net income after adjustment.
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AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
128. Adjusting entries-effect on elements of financial statements
Galaxy Entertainment prepares monthly financial statements. On July 31, the accountant made adjusting entries to record:
(A.) Depreciation for the month of July.
(B.) The portion of prepaid rent for outdoor stage and seating which had expired in July.
(C.) Earning of ticket revenue for July which had been subscribed in advance. (When patrons purchase the Summer Jazz Series tickets in advance, the accountant credits Unearned Ticket Revenue.)
(D.) Amount owed to Universal from the caterer who sold food and beverages during the July performances. The amount due will be paid to the company on August 8.
(E.) Amount owed to the musicians which had accrued since the last pay day in July.
Indicate the effect of each of these adjusting entries on the major elements of the company's financial statements-that is, on revenue, expenses, net income, assets, liabilities, and owners' equity. Organize your answer in tabular form, using the column headings shown below and the symbols + for increase, - for decrease, and NE for no effect.
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AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
129. Adjusting entries-effect on elements of financial statements
Whoop-It-Up, Inc. prepares monthly financial statements. On March 31, the company's accountant made adjusting entries to record:
(A) Depreciation for the month of March.
(B) Amount owed to Whoop-It-Up, Inc for March from the concessionaire operating a juice bar in the facility. The amount due will be remitted to Whoop-It-Up, Inc during the first week in April.
(C) Cost of supplies used in March. (When purchased, the cost of supplies is debited to an asset account.)
(D) Earning of a portion of annual membership fees which had been collected in advance. (When customers purchase annual memberships, an Unearned Revenue account is credited.)
(E) Accrued interest for March owed on a bank loan obtained March 1. No interest expense has yet been recorded.
Indicate the effect of each of these adjusting entries on the major elements of the company's financial statements-that is, on revenue, expenses, net income, assets, liabilities, and owner's equity. Organize your answer in tabular form, using the column headings shown below and the symbols + for increase, - for decrease, and NE for no effect.
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AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
130. Effects of errors on financial statements
Indicate the immediate effect of the following errors on each of the accounting elements described in the column headings below, using the following code: O = Overstated; U = Understated; NE = No Effect.
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AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Hard
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
131. Effects of errors on financial statements
Indicate the immediate effect of the following errors on each of the accounting elements described in the column headings below, using the following code: O = Overstated; U = Understated; NE = No Effect.
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AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Hard
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
132. End-of-period adjustments - selected computations
Allied Architects adjusts its books each month and closes its books at the end of the year. The trial balance at January 31, 2010, before adjustments is as follows:
 [image: image44.wmf] 
The following information relates to month-end adjustments:
(a) According to contracts, consulting fees received in advance that were earned in January total $13,500.
(b) On November 1, 2009, the company paid in advance for 5 months' advertising in professional journals.
(c) At January 31, supplies on hand amount to $2,250.
(d) The equipment has an original estimated useful life of 4 years.
(e) The corporation is subject to income taxes of 25% of taxable income. (Assume taxable income is the same as "income before taxes.")
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1) Unearned consulting fees: $4,050
2) Advertising expense: $2,520
Supplies expense: $1,125
3) Book value: $40,950
4) Net income: $39,859

Feedback:  [image: image46.wmf] 
Depreciation per month is $1,350 ($64,800  [image: image47.wmf] 48 months)
Accumulated depreciation at January 31 is $23,850 ($22,500 + $1,350)
Book value: $64,800 cost - $23,850 accumulated depreciation = $40,950
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AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
133. End-of-period adjustments
West Laboratory adjusts and closes its accounts at the end of each month. The trial balance at September 30, 2010, before adjustments, is as follows:
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The following information relates to month end adjustments:
(a) Office supplies on hand September 30 amounted to $500.
(b) The useful life of the medical equipment was estimated to be 20 years with no residual
value.
(c) Many patients pay in advance for major medical procedures. Fees of $6,000 were earned during the month by performing procedures on patients who had paid in advance.
(d) Salaries earned by employees during the month but not yet recorded amounted to $2,300.
(e) On September 1, West Laboratory had moved and paid 2 month's rent in advance.
(f) Medical procedures performed during the month but not yet billed or recorded amounted to $4,600.
Prepare the adjusting entries required at September 30.
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AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Apply
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
134. Adjusting Entries
Identify four types of timing differences between cash flows and the recognition of expenses or revenues that may require adjusting entries. 

(1.) To convert assets to expenses as they are consumed.
(2.) To convert liabilities to revenue as they become earned.
(3.) To accrue unpaid expenses.
(4.) To accrue uncollected revenue.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Remember
Difficulty: Easy
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
135. Materiality
(A.) Identify several factors considered by an accountant in deciding whether an item is "material."
(B.) Does the concept of materiality complicate or simplify the process of making adjusting entries? Give an illustration to support your answer. 

(A.) Factors to be considered include the following:
The dollar amount of the item (relative to annual net income, for example).
The cumulative effect of all items under consideration.
The nature of the item (politically sensitive, illegal, contrary to company policies, etc.).
Accountants use their professional judgment in deciding which items are material, i.e., might reasonably influence the decisions of users of the financial statements.
(B.) The concept of materiality should simplify the adjusting process because it allows accountants to use estimated amounts and even to ignore other accounting principles if the results do not have a "material effect" upon the financial statements. Several examples are listed below:
Low-cost assets may be charged directly to expense.
Some expenses such as utilities are charged to expense as the bills are paid, rather than when services are used, even though this practice technically violates the matching principle.
Some adjusting entries may be ignored for immaterial dollar amounts.
Adjusting entries may be based upon estimates if the amount of error is likely to be immaterial.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-08 Explain the concept of materiality.
Topic: Adjusting Entries and Accounting Principles
 
136. Adequate disclosure
(A.) Briefly explain what is meant by the principle of adequate disclosure.
(B.) How does professional judgment enter into the application of the principle of adequate disclosure?
(C.) List 5 types of information that a publicly-held corporation generally would be required to provide according to the concept of adequate disclosure. 

(A.) The principle of adequate disclosure means that financial statements should be accompanied by any information necessary for the statements to be interpreted properly. Most disclosures appear within several pages of notes (or footnotes) that accompany the financial statements.
(B.) Drafting footnotes requires an in-depth understanding of the company and its operations. As there is no comprehensive list of information that must be disclosed and the content of the notes often is not drawn directly from the accounting records, the adequacy of disclosure is dependent upon the accountants' professional judgment. This professional judgment is used in selecting for disclosure those items that an intelligent person would consider necessary to properly interpret the financial statements.
(C.) A publicly-held corporation is generally required to disclose the following types of information (students are required to list five):
Accounting methods in use.
Due dates of major liabilities.
Lawsuits pending against the business.
Scheduled plant closings.
Governmental investigations into the safety of the company's products or the legality of its pricing policies.
Significant events occurring after the balance sheet date, but before the financial statements are actually issued.
Specific customers that account for a large portion of the company's business.
Unusual transactions or conflicts of interest between the company and its key officers.
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AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-07 Explain how the principles of realization and matching relate to adjusting entries.
Topic: Adjusting Entries and Accounting Principles
 
137. Purpose of adjusting entries
The president of Crown Construction was informed that the first quarter financial statements would be available "as soon as the adjusting entries are made." Being a non-accountant, the president feels adjustments should not be necessary if the accounting department is operating in a competent manner. Does the need for adjusting entries at the end of the quarter imply that transactions are not being recorded properly? Explain. 

No, the need for adjusting entries does not mean that transactions are being recorded improperly. There are many situations in which a cash receipt represents revenue of two or more accounting periods, or a cash payment covers expenses of several accounting periods. The purpose of adjusting entries is to ensure that revenue and expenses are recognized on an accrual basis, regardless of when a cash receipt or payment occurs. Revenue is to be recognized when earned; expenses are to be recorded when related goods and services are used. An adjusting entry is required for each transaction that involves either revenue or expense of more than one accounting period.

 


AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Understand
Difficulty: Medium
Learning Objective: 04-01 Explain the purpose of adjusting entries.
Topic: Adjusting Entries
 
138. Murphy's Auto Co. purchased a large piece of equipment on January 1, 1998. The equipment is being depreciated, using the Straight-Line method, at the rate of $16,000 per year. On January 5, 2009 the book value of the machine was $190,000.
(a) What was the original cost of the machine?
(b) What will the book value be on December 31, 2010? 

(a) $366,000
(b) $158,000

Feedback: (a) ($190,000 + (11 x 16,000)) = $366,000
(b) ($190,000 - (2 x $16,000)) = $158,000

 


AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Topic: Adjusting Entries
 
139. The Blue Chip Co. prepared the following income statement for December 31, 2011 but neglected to make the necessary adjusting entries.
 [image: image53.wmf] 
Required: Prepare a corrected income statement after considering the following:
(1.) The company had purchased a truck for $4,800 on January 1, 2011 which was expected to last 5 years. It was originally debited to the account "Truck" and credited to cash.
(2.) Salaries of $2,400 were owed to employees but not yet recorded.
(3.) The company owed $640 in accrued interest which was to be paid early in January 2012.
(4.) In November 2011, the company had received $3,600 of advance payments which were originally recorded as Unearned Revenue. One-third of this was earned in December, 2011. 
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AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Analyze
Difficulty: Medium
Learning Objective: 04-02 Describe and prepare the four basic types of adjusting entries.
Topic: Adjusting Entries
 
 


Multiple Choice Questions
 

140. Joseph Jewelers purchased display shelves on March 1 for $36,000. If this asset has an estimated useful life of five years, what is the book value of the display shelves on April 30? 
A. $600.
B. $34,800.
C. $33,600.
D. $900.

 


Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Learning Objective: 04-06 Prepare adjusting entries to accrue uncollected revenue.
 
141. The adjusting entry to recognize an unrecorded expense is necessary: 
A. When an expense is paid in advance.
B. When an expense has been neither paid nor recorded as of the end of the accounting period.
C. Whenever an expense remains unpaid at the end of an accounting period.
D. Because the accountant is likely to forget to pay these unrecorded expenses.

 


Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Learning Objective: 04-06 Prepare adjusting entries to accrue uncollected revenue.
 
142. Before any month-end adjustments are made, the net income of Lawrence Company is $550,000. However, the following adjustments are necessary: office supplies used, $35,000; services performed for clients but not yet recorded or collected, $12,300; interest accrued on note payable to bank, $14,100. After adjusting entries are made for the items listed above, Lawrence Company's net income would be: 
A. $541,400.
B. $488,600.
C. $583,200.
D. $513,200.

 


Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Learning Objective: 04-06 Prepare adjusting entries to accrue uncollected revenue.
 
143. Of the following adjusting entries, which one results in an increase in liabilities and the recognition of an expense at the end of an accounting period? 
A. The entry to accrue salaries owed to employees at the end of the period.
B. The entry to record revenue earned but not yet collected or recorded.
C. The entry to record earned portion of rent previously received in advance from a tenant.
D. The entry to write off a portion of unexpired insurance.

 


Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Learning Objective: 04-06 Prepare adjusting entries to accrue uncollected revenue.
 
144. The CPA firm auditing Indian Company found that net income had been overstated. Which of the following errors could be the cause? 
A. Failure to record depreciation expense for the period.
B. No entry made to record purchase of land for cash on the last day of the year.
C. Failure to record payment of an account payable on the last day of the year.
D. Failure to make an adjusting entry to record revenue which had been earned but not yet billed to customers.

 


Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Learning Objective: 04-06 Prepare adjusting entries to accrue uncollected revenue.
 
 Manhattan Park adjusts its books each month and closes its books on December 31 each year. The trial balance at January 31, 2010, before adjustments, follows:
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145. According to attendance records, $8,200 of the Unearned Admission Revenue has been earned in January. Compute the amount of admissions revenue to be shown in the January income statement: 
A. $35,800.
B. $19,400.
C. $8,200.
D. $3,800.

 


Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
 
146. At January 31, the amount of supplies on hand is $2,300. What amount is shown on the January income statement for supplies expense? 
A. $2,300.
B. $5,400.
C. $3,100.
D. $7,700.

 


Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
 
147. The equipment has an original estimated useful life of six years. Compute the book value of the equipment at January31 after the proper January adjustment is recorded: 
A. $1,000.
B. $71,000.
C. $53,000.
D. $60,000.

 


Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
 
148. Employees are owed $1,200 for services since the last payday in January to be paid the first week of February. No adjust​ment was made for this item. As a result of this error: 
A. Assets at January 31 are overstated.
B. January net income is overstated.
C. Liabilities at January 31 are overstated.
D. Owners' equity at January 31 is understated.

 


Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
 
149. On August 1, 2009, the park purchased a 12-month insurance policy. The necessary adjusting entry at January 31 includes which of the following entries? (Hint: The company has adjusted its books on a monthly basis.) 
A. A debit to Insurance Expense for $1,050.
B. A credit to Unexpired Insurance for $11,550.
C. A credit to Unexpired Insurance for $1,800.
D. A debit to Unexpired Insurance for $10,800.

 


Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
 
 


Essay Questions
 

 Scorpio Travel adjusts its books each month and closes its books on December 31 each year. The trial balance at January 31, 2009, before adjustments, follows:
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150. According to attendance records, $4,800 of the Unearned Admission Revenue has been earned in January. Compute the balance in the following accounts after the proper adjustment is made.
Unearned Admission Revenue account balance $__________
Admission Revenue account balance $__________ 

Unearned Admission Revenue: $6,000 - $4,800 = $1,200 credit
Admission Revenue: $13,800 + $4,800 = $18,600 credit

 


Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
 
151. At January 31, the amount of supplies still on hand was determined to be $675. What amount should be reported in the January income statement for supplies expense? $__________ 

$2,700 - $675 = $2,025

 


Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
 
152. The equipment has an original useful life of eight years. Compute the book value of the equipment at January 31 after the proper January adjustment is recorded. $__________ 

January depreciation = $36,000 ¸ 8 ( (1/12) = $375
$36,000 - ($9,000 + $375) = $26,625 book value

 


Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
 
153. $900 is owed to employees for work since the last payday in January, to be paid the first week of February. What is the effect on January net income if the accountant fails to make any January 31 adjustment for this item? 

Net income is overstated by $900.

 


Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
 
154. On June 1, 2008, the park purchased a 12-month insurance policy. Give the adjusting entry to record insurance coverage expiring in January. (Hint: The company adjusts its books on a monthly basis.) 
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$6,300 ¸5 months remaining = $1,260 per month

 


Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Learning Objective: 04-04 Prepare adjusting entries to convert liabilities to revenue.
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
 
155. The accountant for Rose's Emporium, Inc. prepared the following trial balance at January 31, 2010, after one month of operations:
 [image: image58.wmf]  
Additional information items:
a. Consulting services rendered to a client in January, not yet billed or recorded, $2,400.
b. Portion of insurance expiring in January, $300.
c. Income taxes expense for January of $2,500.
d. The office equipment has a life of 5 years.
Instructions: Prepare adjusting entries for a through d.
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Learning Objective: 04-03 Prepare adjusting entries to convert assets to expenses.
Learning Objective: 04-05 Prepare adjusting entries to accrue unpaid expenses.
Learning Objective: 04-06 Prepare adjusting entries to accrue uncollected revenue.
 
 


Multiple Choice Questions
 

156. The purpose of adjusting entries is to: 
A. Adjust the Retained Earnings account for the revenue, expense, and dividends recorded during the accounting period.
B. Adjust daily the balances in asset, liability, revenue, and expense accounts for the effects of business transactions.
C. Apply the realization principle and the matching principle to trans​actions affecting two or more accounting periods.
D. Prepare revenue and expense accounts for recording the transactions of the next accounting period.

 

157. Before month-end adjustments are made, the January 31 trial balance of Rover Excursions contains revenue of $27,900 and expenses of $17,340. Adjustments are necessary for the following items:
( Portion of prepaid rent applicable to January: $2,700.
( Depreciation for January: $1,440.
( Portion of fees collected in advance earned in January: $3,300.
( Fees earned in January; not yet billed to customers: $1,950.
Net income for January is: 
A. $10,560.
B. $17,070.
C. $7,770.
D. (some other amount)

 

158. The CPA firm auditing Mason Street Recording Studios found that total stockholders' equity was understated and liabilities were overstated. Which of the following errors could have been the cause? 
A. Making the adjusting entry for depreciation expense twice.
B. Failing to record interest accrued on a note payable.
C. Failing to make the adjusting entry to record revenue which had been earned but not yet billed to clients.
D. Failing to record the earned portion of fees received in advance.

 

159. Assume Fisher Company usually earns taxable income, but sustains a loss in the current period. The entry to record income taxes expense in the current period will most likely: (indicate all correct answers.) 
A. Increase the amount of that loss.
B. Include a credit to the Income Taxes Expense account.
C. Be an adjusting entry, rather than an entry to record a transaction completed during the period.
D. Include a credit to Income Taxes Payable.

 

160. The concept of materiality (indicate all correct answers): 
A. Requires that financial statements are to be accurate to the nearest dollar, but need not show cents.
B. Is based upon what users of financial statements are thought to consider important.
C. Permits accountants to ignore other generally accepted accounting principles in certain situations.
D. Permits accountants to use the easiest and most convenient means of accounting for events that are immaterial.
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